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Section type :
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Question Number : 1 Question Id : 2549896414 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

, BHIF HUISS R IS 1 77 87 § OIgt 319 BIsd! SR HRIHH! o T 7T Yeifd o2 9ahd & |

Options :

1. & 3TZH

2.« P

3. ¥ UiiheH fdst
4. % T IR

Question Number : 1 Question Id : 2549896414 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

is the screen background and the main area of a window where you can open and manage files and programs.

Options :

1. ¥ Anicon

2. # Desktop

3. % Application window

4. % Screen saver

Question Number : 2 Question Id : 2549898414 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

MS-Excel 2019 H, ®1H-T1 thaH U (AP diet fadavur & fore Tt faavur thawr &1 ufaeis a1 (dieran) 82

Options :
1. ¥ BETAINV Hha=H
2. ¥ BETA.INV BaRH
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3. ® [INVCBETA HhaRH
4. % CUMBETAINV ha”H

Question Number : 2 Question Id : 2549898414 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In MS-Excel 2019, which function returns the inverse of the cumulative distribution function for a specified beta distribution?
Options :

1. = BETAINV function

2. % BETA.INV function

3. ¥ INVCBETA function

4. # CUMBETAINYV function

Question Number : 3 Question Id : 2549898814 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

T TSR [Sagy & ave ¢ ford! SUaT [l dugex Yol H, 3iaR, 3idh 3R HHIS ey o’ &
fore foran ST 8

Options :

1. ¥ DiarS
2. % HI3Y
3. % W

4. % MICR

Question Number : 3 Question Id : 2549898814 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The is a typewriter like device that is used to type in the letters, digits and commands in a computer system.
Options :

1. = keyboard

2. % mouse

3. % scanner

4. % MICR

Question Number : 4 Question Id : 25498911636 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks :

The division arithmetic operator in a C language is represented by:
Options :

L. &=~

2. & %

3.9/

4. % x

Question Number : 4 Question Id : 25498911636 Question Type : MCQ Option Shuffling : Yes Display Question
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Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

C HIwT ¥ fefaer siivymfes siiurex ERERIEICIE
Options :

.=~

2. & ¥

3. %/

4. ® x

Question Number : 5 Question Id : 25498920526 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Wéwefagﬁ?ﬁm(ﬁﬁmaﬂﬁ,?%?mﬁmﬁﬁa R, Réta 3R fiic B & forw pet firere? uob Te
.

Options :

1. T8 URIRIT

2. % WsTite S
3. % 99 fSomeA

4. % SToY T

Question Number : 5 Question Id : 25498920526 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The overall term for creating, editing, formatting, storing, retrieving and printing a text document is called
Options :

1. # word processing

2. * gpreadsheet design

3. % web design

4. % database management

Question Number : 6 Question Id : 25498920553 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of these is a/are basic function of a computer?
Options :

1. ¥ Accept input only

2. # Process data only

3. ¥ Store data only

4. % Accept input, Process data and Store data

Question Number : 6 Question Id : 25498920553 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
T8 Y HH-AIA HHR BT JaYd 1 8/8?
Options :
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1. ¥ $Hdd $TYC WIHR HIAT
2. # Had ST Uy HAT
3. ® Hdd Sl TR B
4. " Y WHR BT, STl YR HAT 3R ST TR HAT

Question Number : 7 Question Id : 25498924748 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A (UNIX) B TSR] afyd e & o SUART St S aTell 9Ridh gfHe & a1 gl offdl 87
Options :

1. # Igd

2. % Rew

Sal

RIS |

E

¥

3
4,

Question Number : 7 Question Id : 25498924748 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The basic unit used to organise information in UNIX is called:
Options :

1. # file

2. # gystem
3. ¥ data

4 shell

E

Question Number : 8 Question Id : 25498929728 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

ROMs & 3f@rar, ¥ ot 9ed 9630 & U1y URURS didersd veH Tad TR e gt € o & BIos 38R
Options :

1. % Rfed You Ty qu

2. % SAHD Y0 TRy AHRl

3.« TR dicicIsd YSH TRY BERT

4. % ORI HERY

Question Number : 8 Question Id : 25498929728 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Except from ROMs,
memory.

also include conventional volatile random access memories with battery backup such as BIOS

Options :

1. ¥ Static Random Access Memory

2. ® Dynamic Random Access Memory

3. # Non-volatile Random Access Memory
4, ¥ Flash Memory
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Question Number : 9 Question Id : 25498929892 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

ﬁugﬁ?[@;ﬁ%ﬁo‘ﬂuwe%wqﬁs =R I T[UraT arelt A=A &S9O § ST 3 SRBIS B ST 3R ot 71f
[ ?

Options :

1. # U9-CgU IS

2. # Foiagl-yHd e

3.« GRY TR

4. % ccp SR

Question Number : 9 Question Id : 25498929892 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following types of barcode scanners are built with high-quality machines that easily read barcodes at an
increased speed?

Options :

1. ¥ Pen-type readers

2. % Electro-thermal readers
3. % Wasp scanners

4. ¥ CCD readers

Question Number : 10 Question Id : 25498929974 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

IEAfeH WfthT teh U fafd § foraes aed farsht safaa 1 sifgeta aramafcs faxivarsi arar te At Afcs daR far
ST § dlfes SAfee WheR Bl fpar ST a® |

Options :

1 # 9 (Te)

2. " YIAd (RIS

3. # gfud (STHH)

4. % GH (UfdfEAC)

Question Number : 10 Question Id : 25498929974 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Biometric spoofing is a method where a counterfeit mould emulates the biometric attributes of an individual so as to
the biometric scanner.

Options :

1. #* enhance
2. % confuse
3. ¥ inform

4. % eliminate

Question Number : 11 Question Id : 25498931265 Question Type : MCQ Option Shuffling : Yes Display Question
https://g01.tcsion.com/CAE/viewHtmIPDFAction.action 6/45
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Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
frafaied & ¥ H1H-91 7RI &1 Udh HgdyUl edh (<) § it didig (cpu), faftr st iR 3 aTed) el
(@MY) & §9 T Sexhy ST 82

Options :

1. # O AR

2.+ faude

3. % gldbe

4. % URURA BT Wic

Question Number : 11 Question Id : 25498931265 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is an important component of the motherboard that forms an interface between the CPU, various buses
and other external components?

Options :

1. % Main memory

2. % Chipset

3. % Socket

4. ¥ Peripheral card slot

Question Number : 12 Question Id : 25498931329 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

USB TR 8134 & ey # Fofafed & 9 oH-a1 sy w6l 781 82
Options :

1.« sﬂﬁéﬁﬁﬁ?&n (write protection)?‘ﬁ%l

2. % gg faflrst SR & Iuas 5|

3. # g fafld TR &t TUGU &Ml § SUAs g |

4. % g U d1g SRV ¢ |

Question Number : 12 Question Id : 25498931329 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT true with reference to the USB flash drive?
Options :

1. # It has the write protection mechanism.

2. % [t is available in variety of sizes.

3. % Itis available in variety of storage capacities.

4. * Tt is an external device.

Question Number : 13 Question Id : 25498933054 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Ifhdh caaie I 58 A8 F |l 1 91l 52
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Options :
1. ¢ U9 ¢qale
2. # U (puck)
3. % gH-US
4. % USUTH

Question Number : 13 Question Id : 25498933054 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
A graphic tablet is also known as a:
Options :

1. = pen tablet

2. % puck

3. ¥ book-pad

4. ¥ pantograph

Question Number : 14 Question Id : 25498933181 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

HUICR T, TMeg, Al Wb 3R Tia Tfed 30 Gaft ST XWR (manipulate) HA R I TR d1 & forg
TUITeH T ST R & |

Options :

I

2. % 998

3. % §9-1

4.« 992

Question Number : 14 Question Id : 25498933181 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Computers use the system to manipulate and store all of their data including numbers, words, videos, graphics,
and music.

Options :

1. * base-4
2. % base-8
3. ¥ base-1
4. % base-2

Question Number : 15 Question Id : 25498933936 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Codes consisting of lines with varying widths or spacing between lines that are computer readable are known as:
Options :

1. ¥ an ASCII code

2. * line code

https://g01.tcsion.com/CAE/viewHtmIPDFAction.action 8/45



03/03/2023, 17:56 https://g01.tcsion.com/CAE/viewHtmIPDFAction.action

3. % source code
4. % bar code

Question Number : 15 Question Id : 25498933936 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

S-S ANSTS aTell A1 o o P TT X U a2l o ord TR HY & U H S S g
Options :

1. % ASCII HIS

2. & ARADIS

3. % A Bls

4. & IR DI

Question Number : 16 Question Id : 2549898177 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

IP spoofing is a method of bypassing security measures on a network or a way of to a network by imitating a different
IP address.

Options :

1. % discarding access
2. %" gaining access
3. ® removing access

4. % disconnecting access

Question Number : 16 Question Id : 2549898177 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

;%?,%IP@ﬁWWWW%&?&HW@@&HWmWWW HITH
|

Options :

1. ¥ Ugd BreA

2. ¥ UgI U

3. # Ugda geH

4. % ggg fagiford e

Question Number : 17 Question Id : 2549899471 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Mail merge process can be done using which of the following menus in MS-Word 20167
Options :

1. ® References

2. % Insert

3. % Review

4. % Mailings

https://g01.tcsion.com/CAE/viewHtmIPDFAction.action 9/45
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Question Number : 17 Question Id : 2549899471 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS-Word 2016 & f9 & 9 far A &1 ITGNT FH5xab T TS Ufohal TTF SIS Thell 62
Options :

1. ® 3B

2. % 3¢

3. % Ry,

4.« AT

Question Number : 18 Question Id : 2549899484 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The paper used by dot matrix printer is called:
Options :

1. = continuous form paper

2. % dotted paper

3. ¥ separated plain paper

4. % bond paper

Question Number : 18 Question Id : 2549899484 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Sic Afea fliex gRI ST fT T aTel UWR &1 1 H8dl &7
Options :

1. " S Bid TR

2. % BT UW

3. % WS W IR

4, % 9 TR

Question Number : 19 Question Id : 2549899589 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
What is the speed of daisy wheel printer?
Options :

1. % 200 to 500 characters per second

2. % 1 to 5 characters per second

3. % 10 to 75 characters per second

4. % 100 to 150 characters per second

Question Number : 19 Question Id : 2549899589 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
o1t et e 3 Tfa g2
Options :
https://g01.tcsion.com/CAE/viewHtmIPDFAction.action 10/45
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1. ¥ 200 - 500 3f&R Ufd Yhs
2. % 1.5 3R Ufd Qe

3.+ 10 - 75 3ER Ufd Wb e
4. % 100 - 150 3R Ufd s

Question Number : 20 Question Id : 25498910794 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following are internal font or built-in font that is built into the hardware of a printer?
Options :

1. ¥ Soft fonts

2. % Hard fonts

3. # Both soft fonts and hard fonts

4. % Resident fonts

Question Number : 20 Question Id : 25498910794 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Fafafed 3 @ &H ¥ 3 e31d Wi a1 fiee-39 i § ol U filek & greadk § AfHd g 82
Options :

1. # IR Bicd

2. % TS BI<Y

3. % Jiue 3R 818 gl Bied

4. & ST Hi<d

Question Number : 21 Question Id : 25498911257 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

FM broadcasting for speech and music uses a range of:
Options :

1. ¥ 80 to 100 MHz

2. ¥ 2t020KHz

3. ¥ 455 t0 500 KHz

4. % 88 to 108 MHz

Question Number : 21 Question Id : 25498911257 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

HTYOT 3R A & T FM TRIRUT o5 351 &1 ST -l 82
Options :

1. # 809 100 MHz

2. % 2920 KHz

3. % 4559 500 KHz

4. % 88 9 108 MHz

https://g01.tcsion.com/CAE/viewHtmIPDFAction.action 11/45
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Question Number : 22 Question Id : 25498913401 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
JPEG standard is used for

Options :

1. = image compression

2. # image isolation
3.
4

E

image cutting

E

image cropping

Question Number : 22 Question Id : 25498913401 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
JPEGAM® & fou Suan fear Sman g
Options :

1. gAY guled

2. % U fqav™

3. ® AW BT

4. % S HIUT

Question Number : 23 Question Id : 25498913466 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Entropy coding is:

Options :

1. * Jossless coding using psycho-visual redundancy
2. # Jossy coding using statistical redundancy

3. ¥ Jossy coding using psycho-visual redundancy

4. % lossless coding using statistical redundancy

Question Number : 23 Question Id : 25498913466 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Terdt i a1 32

Options :

1. # gIFRfed HIST S EHIfageid Sfaverdr BT ITART Bl §
2. % GIMBRS DITST Sl HiRHAB! TRl BT SUART BT &

3. # BIMPR® HIST Sl WSS SRl BT IUINT Hell §
4.+ BRI DITST S iRSADT SfcRadl BT ITAN Bl &

Question Number : 24 Question Id : 25498918479 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following is NOT a reason for a printer to not print the document?
https://g01.tcsion.com/CAE/viewHtmIPDFAction.action 12/45
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Options :
1. * No power
2. % No computer connection

3. ¥ Printing to the wrong printer
4. % DNS unreachable

Question Number : 24 Question Id : 25498918479 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

fifex 3T STagiic &1 gEU 8 H 5T P 7 T o1 TS SR 81 8 I 8
Options :

1. # ITH foie @t emyfd 78 81 X& 3

2. # fifer $er § FHae el g

3. # 7ad e ¥ fiftn @ R

4.+ DNS Ugd I gl 5|

Question Number : 25 Question Id : 25498918565 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following protocols is used for communication on the internet?
Options :

1. & TCP/IP

2. % SNMP
3. % DNS
4

-

. % DMZ

Question Number : 25 Question Id : 25498918565 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

$oxC R TAR & fore 9 & ¥ 54 Ticieia o1 SUanT fasan ST 82
Options :

1. = TCP/IP

2. % SNMP

3. ¥ DNS

4. % DMZ

Question Number : 26 Question Id : 25498920740 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

With reference to protocols, what is the full form of NTP?
Options :

1. ¥ Network Test Protocol

2. # Network Test Portal

3. % Network Time Protocol

4. #® Network Time Portal
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Question Number : 26 Question Id : 25498920740 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
eidrd & deu &, NTP &1 Juiey a1 82
Options :

1. ¥ Network Test Protocol (-1Cd<§? T HIC\IOb\IJﬂ)
2. * Network Test Portal (W T mé?f)

3. % Network Time Protocol ("|CO|<§> cIgH HICIOh\IJﬂ)
4. ® Network Time Portal (f¢ad ¢IgH UIEa)

Question Number : 27 Question Id : 25498922033 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

KRACK attack is about forcing the communicating sides to use the  secret keys multiple times.
Options :

1. % same

2. % different

3. * many

4. % random

Question Number : 27 Question Id : 25498922033 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

$® (KRACK) 3, HHIAb I JI3gy ol Hiohe BT & THIMSH IUTNT & fod a1 B Yafdd 31 g
Options :

1. =" gHH

2. % 3T

3. # B3

4. % grEfsdh

Question Number : 28 Question Id : 25498924176 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A file system of a computer is used to:

Options :

1. % control how information is stored and retrieved
2. % control the memory access

3. ¥ control the disk access

4. ¥ manage the disk space

Question Number : 28 Question Id : 25498924176 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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HYR P BIed RREA BTSN & fore far srar g
Options :
| TEGIE SR Wi ) i
2. % A TR &l FEfd B
3. % &b TRy & FafEd e
4. % &P WY B HARYT B

Question Number : 29 Question Id : 25498925404 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
UPSs are less expensive than online double conversion systems.
Options :
1. = Line interactive
2. % Multimode
3. ¥ Standby

4. * Stand alone

Question Number : 29 Question Id : 25498925404 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
UPSs 3{elTS Sae FUiaR0l YuMTel! § &H A 8Id 5 |
Options :
1. « T3 SeXfaed
2. & Al
3. % W
4. % W SIHAH

Question Number : 30 Question Id : 25498925446 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is a mini Din connector used to connect keyboard, mice to a PC compatible computer?
Options :

1. % PS/2 Port

2. % VGA Port

3. % RS232 Port

4. ¥ Ethernet Port

Question Number : 30 Question Id : 25498925446 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

9 ¥ § H1F-91 B Din FTR B FOTT ITANT HiaIS, AISY &I PC HHIfead dugex J siie & forg far Sirar g2
Options :

1. % PS/2UI¢

2. ® VGATURE

3. ® RS232UIE
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4. ¥ YA U

Question Number : 31 Question Id : 2549896765 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
1 zettabyte =

Options :

1. ¥ 1024 kilobyte

2. ¥ 1024 megabyte

3. % 1024 exabyte

4. ¥ 1024 petabyte

Question Number : 31 Question Id : 2549896765 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
| SleTaTse (zettabyte) = )
Options :

1. % 1024 fHAEEE (kilobyte)

2. ¥ 1024 TITETSC (megabyte)

3. #1024 THIFISC (exabyte)

4. % 1024 UCTEIZC (petabyte)

Question Number : 32 Question Id : 2549897014 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

fafefad & @ HH-91, U6 TSR &1 MeIdd ¢ S fhdl He & R HEeR § drde B4 § Tei ST 82
Options :

1. % 3-Ad

2. % FTP

3. % 3T OO

4.« TAIC

Question Number : 32 Question Id : 2549897014 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is a type of protocol that enables one computer to connect to a local computer?
Options :

1. % E-malil

2. % FTP

3. ¥ Instant message

4. % Telnet

Question Number : 33 Question Id : 2549897207 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
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Correct Marks : 1 Wrong Marks : 0

TS aieR oed H, B YA T Siagie, WIS e a1 UoiexH o - & forg frar sran 3|

Options :

. BN N\
1. ¥ ThaR[H 3cgHCYH
2. % B i

3. « gdc 3cTHcy
4. # Pleex ScaHCH

Question Number : 33 Question Id : 2549897207 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In the Google calendar labs, are used to attach a Google document, spreadsheet or presentation.
Options :

1. # function attachments

2. * file attachments

3. % event attachments

4. # folder attachments

Question Number : 34 Question Id : 2549897430 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS-Word 2019 G130 (STeRgHe) § g § ¥ H1F-E, TeR (gutter) FRURY 1 et AfdT 7t 82
Options :

1. # Qg A1

2. % g Ao

3. « Sl Ao

4, % AGES A

Question Number : 34 Question Id : 2549897430 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT a correct setting of the gutter position in an MS-Word 2019 document?
Options :

1. #* Side margin

2. % Top margin

3. % Bottom margin

4. ¥ Inside margin

Question Number : 35 Question Id : 2549897931 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS-Word 2016 H, bt G&1awt (Sfagiic) & fife 81 F uge U 3@ 1 gamicH o9 & fore Fafifaa 3 3 fhg
I eg o1 IuTT fovat SITaT 82

Options :
1. # 99 d33c
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2.+ flie Uy
3. % 33
4. % ZUC

Question Number : 35 Question Id : 2549897931 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In MS-Word 2016, which of the following options is used to view the page or make adjustments before any document gets
printed?

Options :

1. ¥ Web Layout

2. % Print Preview

3. ¥ Outline

4. % Draft

Question Number : 36 Question Id : 25498910498 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS-Excel 2019 H, 5§ 3TEIHITE (AutoCorrect) Tdh 3AIfSd YR HaT 7, 1 39 TR gdad far o gear ]
Options :

1. % CTRL+Z

2. % CTRL+R

3. % CTRL+U

4. % CTRL+V

Question Number : 36 Question Id : 25498910498 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In MS-Excel 2019, when the AutoCorrect makes an unwanted correction, it can be undone by pressing:
Options :

1. ¥ CTRL+Z

2. % CTRL+R

3. % CTRL+U

4, % CTRL+V

Question Number : 37 Question Id : 25498910540 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS-Word Siagie & O & gt for TRl IR o131 Ao wered U 9 WTelt S8 Bied! 82
Options :

1.« Frda

2. % Hle¥e

3. % R

4. % RS

https://g01.tcsion.com/CAE/viewHtmIPDFAction.action 18/45



03/03/2023, 17:56 https://g01.tcsion.com/CAE/viewHtmIPDFAction.action

Question Number : 37 Question Id : 25498910540 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which margin style gives one inch empty space on all the sides of the page in an MS-Word document?
Options :

1. % Normal

2. % Moderate

3. ¥ Narrow

4. % Mirrored

Question Number : 38 Question Id : 25498910573 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

33¢ (indent) P! g P fo1T I8t =T fou MU €1 TRUN 1 &l A H TaRUT B3 oI fh MS-Word 2019 H UTIT STl |
2) ORI &

b) HER BT
C)Wﬁm

d) TG <1g & 3RH H 9 3R
Options :

1.¥b,a,d, c

2. % b,a,c,d

3. % b,d,a,c

4. % a,b,d, c

Question Number : 38 Question Id : 25498910573 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Here are the steps to remove an indent. Arrange the steps in the correct sequence as found in MS-Word 2019.

a) at the beginning of the first line
b) place your cursor
¢) press the backspace key

d) of the paragraph and
Options :

1.¥b,a,d, c

2. % b,a,c,d

3. % b,d,a,c

4. % a,b,d, c

Question Number : 39 Question Id : 25498910591 Question Type : MCQ Option Shuffling : Yes Display Question
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Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SR §3c a5 MERd a1 8 6 MS-Word 2016 PRI B eRe & -2 Az 3 Sl B
Options :

1. o gl s

2. # 3ffcr &g

3. # R @rs

4. % UG Weg

Question Number : 39 Question Id : 25498910591 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The Hanging Indent controls how the text of a paragraph lines up underneath the in MS-Word 2016.
Options :

1. = first line

2. % last line

3. * third line

4. * first word

Question Number : 40 Question Id : 25498910620 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS-Word 2019 GXITaV (S1agHc) & fort fewiee Hed TRICTH F1 82
Options :

1. % .word

2. % txt

3. % .docx

4. % docs

Question Number : 40 Question Id : 25498910620 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the default file extension for an MS-Word 2019 document?
Options :

1. % -word

2. % txt

3. % docx

4. % docs

Question Number : 41 Question Id : 25498910718 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS-Excel 2019 H, ¥d TS & T # Fufeiad §  o1H-91 7Tad (FALSE) 82

Options :
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1. % 39 I W S foetep b Ul Bl UST o oigl hee fRd 3|
2. % A P I B 3R Hec Pl TS B & oy B IR W faas w1
3. % U BT I BY 3R YA & Prec DI ST DA & [T DIaTS U F2 BaRM Hoil Gad |
4. Y D1 9T B R Yl & boc DI ST B b [T Dlals Y F5 B Hoil e

Question Number : 41 Question Id : 25498910718 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is FALSE with reference to cell editing in MS-Excel 2019?

Options :

1. *# Edit the cell by double clicking the cell where the content located.

2. # Select the cell and click on formula bar to edit the content.

3. ¥ Select the cell and press the F2 function key from the keyboard to edit the content of the cell.
4. % Select the cell and press the F5 function key from the keyboard to edit the content of the cell.

Question Number : 42 Question Id : 25498911499 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS-Wor%f_\\(f)mﬁ,éﬁ@ﬁﬁﬁ?%q@aﬁ&ﬂﬁmmﬁm%mwmw%l TRUN ! et A H
IR B |

) TR R o 3ife) A 29 e g &1

b) QT ¥ 3i7el FHiae faaed g | MS-Word 3HTe! Hde ST Siad Uefid FHRal g |
¢) OK IR faa® 1|

d) T AT P HfUease Usd 3HeR o fHeTd|
Options :

l1.¥b,a,d, c

2. ®p,a,cd

3.8 b,d,a,c

4. B p,c,d a

Question Number : 42 Question Id : 25498911499 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Below are the steps to turn off the Capitalize first letter of table cells feature in MS-Word 2016. Arrange the steps in the
correct order.

a) Make sure the AutoCorrect tab is displayed.
b) Choose AutoCorrect Options from Proofing. MS-Word displays the AutoCorrect dialog box.

¢) Click on OK.
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d) Clear the Capitalize first letter of table cells.
Options :

1. ¥ b,a,d,c

2. % b,a,c,d

3. % b,d,a,c

4. % b,c,d,a

Question Number : 43 Question Id : 25498911877 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

2 TR (Track Changes) 3 & WY MS-Word 2013 XTI (STagH<) P! TFST H3A & a1, THIE (Review) <8 H
T TS P foTT USRI BT HIH-IT fabed SAAST AIh3HY &b 1Y i TxhRur fearar g2

Options :

1. * Riua Ardbe™

2. 3T A3

3. & 91 A1$Hey

4. % RS

Question Number : 43 Question Id : 25498911877 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

After editing an MS-Word 2013 document with Track Changes on, which option of display for review command in the
Review tab shows the final version with the inline markups?

Options :

1. # Simple Markup
2. %" All Markup

3. ¥ No Markup

4. % Original

Question Number : 44 Question Id : 25498912486 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which one of the following functions can be used to convert a Binary number into a Hexadecimal number?
Options :

1. ¥ BIN2DEC()

2. ¥ HEX2BIN()

3. % BIN2HEX()

4. % HEX2HEX()

Question Number : 44 Question Id : 25498912486 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

T TSR] TS Dl TS RIAT T H Sea & o Fufafad & 3 5 thaw o1 Iuan fhar & Jedi 82

Options :
1. ¥ BIN2DEC()
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2. % HEX2BIN()
3. # BIN2HEX()
4. % HEX2HEX()

Question Number : 45 Question Id : 25498913731 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
e & S, T T o TeT B2
Options :

1.« BRI

2. % fem

3. ¥ 3R

4. % Ylg

Question Number : 45 Question Id : 25498913731 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT a search engine?
Options :

1. = Safari

2. % Bing

3. ¥ Ask

4. % Yahoo

Question Number : 46 Question Id : 25498919192 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS-Word 2016 ¥, If¢ TSH (P B TSCH U § IT HH H -8l &, dl [had! Jgrdl 9 g9 Al gt ¥ I8! ted
UferHie &1 Ugdr P Fohd g2

Options :

1.« T Wiy

2. % T fTgcr

3. # CH Bl

4. % BES Blegd

Question Number : 46 Question Id : 25498919192 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In MS-Word 2016, if the items in the address block are missing or out of order, then with the help of we can identify
the correct address elements from the mailing list.

Options :

1. % Match fields
2. % Match items
3. % Trace fields
4. % Find fields
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Question Number : 47 Question Id : 25498925296 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS-Word 2016 H, Tt G¥dTa (STaIHE) BT ATHSGRUT Hd THY, Save As STIANT I H HTed Wd Pl G- & od
3 fasmed o1 IuanT favar ST

Options :

1. ¥ TG BT (New Folder)

2. # TARYT P (Organise)
3.« g TSl YR (Save as Type)
4. ® |Igd DI M (File Name)

Question Number : 47 Question Id : 25498925296 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In MS-Word 2016, while naming a document, which option in the Save As dialogue box will be used to change the file
format?

Options :

1. ® New Folder
2. # Organise

3. % Save as Type
4. % File Name

Question Number : 48 Question Id : 25498925305 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS-Word ﬁ, HNEEASIES] (recent document)' J 1 Iy %‘?
Options :

1. « BT 81 § Wil 1 G199 (SIagHc)

2. # BT 51§ feeite o T geara (S1egHc)

3. # g o1 ¥ Od fordn a1 gxdrdl (SIRIHT)

4. % g1 g1 ¥ R oo man gxamas (siagde)

Question Number : 48 Question Id : 25498925305 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is meant by 'recent document' in MS-Word?
Options :

1. % The document opened recently

2. # The document deleted recently

3. ® The document mailed recently

4. # The document renamed recently

Question Number : 49 Question Id : 25498925328 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
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Correct Marks : 1 Wrong Marks : 0
Given here are the steps to change the page orientation of an MS-Word 2003 document.

Arrange the given steps in the correct sequence.

a) Under the Margins tab, click on any of the two orientations available. By default, it will be Portrait.
b) You can see the preview under the Preview section, where we see what the page orientation is.

¢) Click on the File menu and Page Setup.

d) Click on the OK option.
Options :

1.%¢c,a,b,d

2. % ¢,b,a,d

3. % c,a,d,b

4. % d,a,b,c

Question Number : 49 Question Id : 25498925328 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS-Word 2003 & o<t Sfagdic & U ST & Saa & fo 81 $ TRl fgu mu |

il T 770 TRON I Wt 3IhH H Haryd $e |

a) TS ¢F H, IUasy & SARTCIH § ¥ frdft tap R faas &1 | fEwiee U 9, 78 Uice ghm|
b) 3170 Uiy GaRH &, e &a 9hd &, 5181 89 ¢8d & 18 Uol SHIRICIH R 5
¢) TT3d B 3R U Y23 IR faads x|

d) OK fded IR faaa® &
Options :

l.%¥¢c,a,b,d

2. % ¢,b,a,d

3. % c,a,d,b

4. % d,a,b,c

Question Number : 50 Question Id : 25498925485 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
frafefed & ¥ fT URey & T MS-Word GXITAW (SlagHc) B Ude U J g e farar o1 gl g2
Options :
1. = éaqg (Web Page)
2. % PDF
3. # 98 XML SiagHc
4. % JPEG
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Question Number : 50 Question Id : 25498925485 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

An MS-Word document cannot be saved directly as which of the following formats?
Options :

1. # Web Page

2. % PDF

3. ¥ Word XML Document

4.« JPEG

Question Number : 51 Question Id : 25498925505 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

FofRed # ¥ BH-91, MS-Word H hraex BIH{ET fddhed 51 82
Options :

1. # i< €zd

2. & Bl

3. « TdIgTHS

4, # Hlgul

Question Number : 51 Question Id : 25498925505 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT a character formatting option in MS-Word?
Options :

1. ¥ Font style

2. % Font

3. # Alignment

4. % Size

Question Number : 52 Question Id : 25498933753 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

FTP &1 0T U &1 87

Options :

1. * WWW (File Transport Protocol)
2. ¢ THI3d SR SIEICAL (File Transfer Protocol)
3. & g CmR PICIEAL] (Fund Transfer Protocol)
4. ¥ BISd TRHR TRTHeR (File Transfer Parameter)

Question Number : 52 Question Id : 25498933753 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks :
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FTP stands for:
Options :
1. * File Transport Protocol
2. % File Transfer Protocol
3. ¥ Fund Transfer Protocol

4. % File Transfer Parameter

READING COMPREHENSION

Section Id : 2549897032
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 1

Number of Questions to be attempted : 1

Section Marks : 5

Display Number Panel : Yes

Enable Mark as Answered Mark for Review and Clear Response Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549897073
Question Shuffling Allowed : No

Is Section Default? : null

Question Id : 25498921181 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Question Numbers : (53 to 57)
Read the given passage and answer the questions.

Grandfather had served for many years in the Indian Forest Service and so it was natural that he should know and understand
and love trees. On his retirement, he had a bungalow built on the outskirts of Dehra and he planted trees all around it — limes,
oranges, mangoes, guavas, also eucalyptus and jacaranda. Dehra lies in a valley at the foothills of Himalayas, a fertile valley

where plants and trees grow tall and strong.

However, Grandfather was not content with planting trees in our garden. On rainy days, we would walk into a jungle beyond
the river bed, with cuttings and saplings, and we would wander slowly through the forest planting shrubs between the ‘Sal’
and ‘Shisham’ trees.

“But no one comes here,” I protested the first time. “Who is going to see them?”
“We are not planting them for people only,” said Grandfather. “We are planting them for the forest, and for the birds and
animals that live here and need more food and shelter.”

He told me how men, and not only birds and animals, need trees, for keeping the desert away, for attracting rain, and for
preventing the banks of rivers from being washed away.
“And for timber?” I asked.

“Yes, and for timber also. But men are cutting trees. For every tree that is cut down, we must plant two. Otherwise there will
be no forest at all one day, and the world will become one great desert.”

One November, Grandfather took me to the hills. The ‘deodars’, oaks and chestnuts were very different from the trees at
Dehra. The leaves of chestnuts had turned yellow. Chestnuts lay scattered on the road. Grandfather and I filled our pockets
with them, then we climbed a bare hill and started planting the chestnuts in the ground. I don’t know if they ever came up
because I never went to that hill station again. Goats and cattle grazed freely on the hill, and if the chestnuts did come up in
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the spring that may well have been eaten. But I like to think that somewhere in the hills there is a grove of chestnut trees, and
the birds and flying foxes have made their homes in it.

Sub questions

Question Number : 53 Question Id : 25498921182 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Grandfather planted many trees in his garden because he:
Options :

1. * had served in the Indian Forest Service

2. % lived on the outskirts of Dehra.

3. % understood and loved trees

4. % had a some fertile land near his bungalow.

Question Number : 54 Question Id : 25498921183 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The narrator protested the first time he went to plant saplings in the forest because he:
Options :

1. #* did not want to walk beyond the river bed.

2. % thought that no one would go there to see what they had done.

3. ¥ did not like the rainy days.

4. % had to wander slowly through the forest.

Question Number : 55 Question Id : 25498921184 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

According to the passage, which of the following is NOT a consequence of cutting forests?
Options :

1. * There will be less rain.

2. % The river banks will be washed away.

3. % There will be more timber for people to use.

4. % The world will become a desert.

Question Number : 56 Question Id : 25498921185 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following trees grew on the hills?
Options :

1. % Eucalyptus

2. % Deodar

3. % Sal

4. % Shisham

Question Number : 57 Question Id : 25498921186 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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What does the author like to think about the chestnuts he planted on the hillside?
Options :

1. ¥ They would have been washed away by rain.

2. % They would have been eaten up by goats.

3. % There would be a grove of chestnut trees on the hill.

4. % The leaves of chestnuts would have turned yellow.

Question Id : 25498921181 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Question Numbers : (53 to 57)

fEU T TR Y Ue 3R ISP YR TR UL & IR S|

Ug U 39

STEToN = YR - a1 H &g auf ddb A1 Bt At 3R ST Uei & Ul 3! amTa Wnifads o1l Jarfghy & are
S &1 P ST 3eTeh H RT3 STl & IRY 3R g I Ug T 3, Fomdt - g, AR, o1, 3ree o U gt 3
AR T IR ARRY AR 1R 3 g 2 41 3g=1 RTar 1 aded 31 U 95 ) SuaTS uidt A fRu 2, ﬁﬂ'ﬁr?ﬂﬁ
I IS HIW! d 3R A9ed 81 § |
mm@ﬂ%ﬁ%wﬁﬁwﬂﬁﬁlawm%ﬁﬁﬁsﬂwﬁaﬁ?ﬁﬁm T & fHIR A gl guSTa #
T o1 ¥, 3R g &1 89 Qe Bl A1 3R &4=A=m %ﬂ@%@aaﬁw@ﬁ%aﬁaﬁwﬁeﬁaﬁwﬁ@uﬁm
"Wuaa‘raﬂéwﬁﬂﬁ% "B U5 Ry & WR T g1l "3 B ST

GTaTSN 3 BT, "GH §76 Pbad ANl o [eTY 781 TR & 1" "8H S5 SivTd o 11, 3R g1 Xg arel ufard! 3R SR & forg
TRB & o] Tt 3iferd HIe SR 31ed &1 STaRadbdr gl g 1"

I 79 gg i adr i B U 7 Sae Ul SFeR) SR ST 3 o1y €1 oRetl € Sfcth bl d O bl SoR B
AT §, B4l I I 17T TGS BId & SR B A o [BARI BT e ¥ Add g

"3R4 g8 gl ¥t ad g7 FH g

5T, apel W 30 &1 AP S W) I U 1T 3R &1 T U e W, B 31 U8 T TS| ST U A g
A} ST T8} ST SIR g U IRRA o Sa |

TP IR 4R & A | argTon I3t UeTel IR A Y| 981 & aaR, YMEEd 3R SRERIC & US, g-1 & US! I HIWT e
21 ereRIe Y Ui tich ug 7 | SRaRie T TR SRR §U A1 ararel iR HY SR 1o oot 9 1R ), fpR g
T WTeht UgTe! IR 96 U 3R 981 §H SRARIC AU Y @mﬁm@ﬁw%ésﬁmﬁmﬁa@aﬁwmﬁ
et T | gt 3R Hawf URTEl R gad U § TR €, 3R IS a¥d Bg & 397 +ft 3 g7 At wme 3§ A R ITEN|
AfhT I T8 Traehr 9gd TS AT ﬁ?q‘s’@ﬁﬁ&m’c’%ﬂ@mww% 3I9% el 33 T8 § SR A
IGH U R ST |

Sub questions

Question Number : 53 Question Id : 25498921182 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

qTErSit < S0 it H 9gd | U ol g A

Options :

1. % i I6i HRGTA 9 Ta1 & it bt |

2. ¥ BN % STE gl H Ed 3

3.« P 37 US! & IR A BRI 3R I8 TG UT|
4. % i 3T ST &b U &1 YN IS, At

Question Number : 54 Question Id : 25498921183 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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TGP, 99 95 Ugall aR ST B 1Y I 7, vy o fomam
Options :
1. # a8 9] & foTR Tet1 Te1 argar U1
2.+ Tg1 Ih! HEd B @ DS Aa! T
3. % JY YT uHe g ot
4. % 98 ST H O 4R g g ol

Question Number : 55 Question Id : 25498921184 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

TR & AR STell &l i & e & A g el gar g2
Options :

1. % 991 § I gicht 5

2. % A & f IR Fed &

3.« ST ) ST P oy 3ifde doe! e g

4. % g doR g e

Question Number : 56 Question Id : 25498921185 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
fFafafea & @ o9 91 Us ugTs! IR U oidT 82
Options :

1. # goicrgd

2. % GaaR

3. ¥ 9

4. % gfigH

Question Number : 57 Question Id : 25498921186 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

AGH A UBTS W N 3RRIC S0 A, 3G IR H 98 T IR (i d 8idl 82
Options :

1. # d IR Y 98 T B

2. % BT3B! TR TS BN

3. + TS R 3RGRIC BT U ST & 711 g1

4. % SRERIC B Uil el 1T 1§18 I

QUANTITATIVE APTITUDE
Section Id : 2549897033
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 6
Number of Questions to be attempted : 6
Section Marks : 6
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Display Number Panel : Yes

Enable Mark as Answered Mark for Review and Clear Response Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549897074
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 58 Question Id : 25498914320 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following values can replace the question mark (?) in the given expression?

2 .5 7
17§ —F= 46—
_?5:{43 : -'}GE

Options :
1. % 32.6
2. % 33.6
3. % 33.975
4. % 32975

Question Number : 58 Question Id : 25498914320 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
feu T FEE §, S 5 DA (3 B W $ A 8

1]-’-— e QE—"’ -=1IE|:—Ir
5 8 B

Options :

1. % 32.6

2. % 33,6

3. % 33975

4. % 32975

Question Number : 59 Question Id : 25498928805 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Two-thirds of three-fourths of one-fifth of a number is 15. What is 30% of that number?
Options :

1. %45

2. % 60

3. %75

4. % 30

Question Number : 59 Question Id : 25498928805 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
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Correct Marks : 1 Wrong Marks : 0

e 7o F T B & dm-sty® w7 o B 15 ¥ 3% w=w #7130 vhne e g

Options :

1.« 45

Question Number : 60 Question Id : 25498928855 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
What should come in place of the question mark (7) in the following expression?

(0.064) % (0.4) = (0.4) x (0.0256)°

Options :
1. %17
2.9 2
3. % 18
4, %3

Question Number : 60 Question Id : 25498928855 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Frafafim ma & mF B (7) § ' o #iF & w5 e
(0.064) x (04)" = (0.4) x (0.0256)°

Options :

. # 17

2.4 2

Question Number : 61 Question Id : 25498929095 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Find the approximate value of the question mark (7) in the following expression:
(%ou are not expected to calculate the exact value)

?="1685 + 14.95 ¥ 5.01
Options :
1. ¥ 520
2. % 550
3. ¥ 630
4. % 560

Question Number : 61 Question Id : 25498929095 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Tt s § W fag [7) S SEEI- JE 6 S
(3R] HelE W &l 0 BT SR e

7= 1685+ 1495 x 5.01
Options :

1. % 520
2. # 550
3. % 630
4.+ 560

Question Number : 62 Question Id : 25498929376 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks :

A certain sum amounts to 72,900 in 2 years at 8% per annum compound interest, compounded annually. The sum is:
Options :

1. ¥ 256,000

2. % 358,000

3. ¥ 360,000
4. % 362,500

Question Number : 62 Question Id : 25498929376 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

T A3 MR 8% a1 ahgfs samel &t &= ¥ 2 I8 & 272,900 BT Sl &, 1 {6 a1fes &0 @ IohafG gicht 8 1 YRR
Td B

Options :

1. # 356,000

2. # 358,000
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3. % 60,000
4. % 362,500

Question Number : 63 Question Id : 25498929623 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

https://g01.tcsion.com/CAE/viewHtmIPDFAction.action

TJLex'alue-:rr'I[l +;){l + ;}{L +:J[:1 -L;) {1 +;3]| 151

Options :
1. % 24
2. ® 48
3. %50
4. % 63

Question Number : 63 Question Id : 25498929623 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

(1 +§'j(1+f]||[1 +—]{1 +§}|:1 + =) 1 A T e

Options :
1. & 24

2. % 48

3 & 50

4 ® 63

GENERAL MENTAL ABILITY AND REASONING

Section Id :

Section Number :
Section type :
Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :

Section Marks :
Display Number Panel :

Enable Mark as Answered Mark for Review and Clear Response

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :
Is Section Default? :

https://g01.tcsion.com/CAE/viewHtmIPDFAction.action

2549897034
4

Online
Mandatory
6

6

6

Yes

Yes

0

1
2549897075
Yes

null
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Question Number : 64 Question Id : 25498910057 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Among the following words, which one will come second if they are arranged as per their order in an English dictionary?
Options :

1. % Partition

2. % Passion

3. ¥ Parlour

4. % Particle

Question Number : 64 Question Id : 25498910057 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

fadmenl & IR Teg o8 T €1 37 Xl B SISH WG IR F TR JUIIHH B TafYd B TR GER R R B AT
Rl SHTIIT?

Options :

1. # Partition
2. % Passion
3. ¥ Parlour
4. % Particle

Question Number : 65 Question Id : 25498914073 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A group of letters is given; the letters are indexed as (a), (b), (¢), (d), (e), (f), (g) and (h), respectively, from left to right.
Arrange the letters properly to form a meaningful eight-letter word and indicate the index of the last letter as your answer.

OTLGERIN (a) (b) (c) (d) (¢) (D) (2) (h)
Options :

1. % (a)

2. % (b)

3. % (¢)

4. % (d)

Question Number : 65 Question Id : 25498914073 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

&R} 1 T JHE 1 faar mar g, o a8 § MU U (a), (b), (¢), (d), (), (), (2) 3R (h) P =0 H 3fa fear man e
31eRl BT U AT Weq T & foTT S 31&RT Bl AR B 3R 30 IR & T H 3ifa 31&R BT Ja& 3d |

OTL GERIN (a) (b) (c) (d) (¢) (D) (2) (h)
Options :

1. % (a)

2. % (b)

3. % (¢)

4. % (d)
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Question Number : 66 Question Id : 25498919663 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Select the option in which the words share the same relationship as that shared by the given set of words.

Love : Adoration : Infatuation
Options :

1. * Smile : Frown : Anger

2. % Hate : Dislike : Attract

3. % Murder : Stab : Assassinate
4. * Attract : Love : Hate

Question Number : 66 Question Id : 25498919663 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

39 fadhed &1 99 STy foTd el & oid ag! IaY § o Aae 1d fAT MU Xea-T= & Uea| & a4 5|
UH : ol : 3mafad

Options :

1. ¥ TG : ARI IGHT : I g

2. % YOI ; ATYNG : STHvd

3. % 9Y : G UIUAT : §AT AT

4. = &ﬂﬁaﬂw

Question Number : 67 Question Id : 25498919829 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Four words have been given, out of which three are alike in some manner and one is different. Select the one that is different.
Options :

1. * Kanpur

2. ¥ Allahabad

3. ¥ Varanasi

4. % Mathura

Question Number : 67 Question Id : 25498919829 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

faedl 7 TR ec RTU T &, 378 A dF frdl a1 T Uep-THH & SIaf Ueh ST & | I 3T Xeg bl T DIl |
Options :

1. ® hIIYR

2. % cdleldlq

3. # gRYORT

4.« HY

Question Number : 68 Question Id : 25498919831 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
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Correct Marks : 1 Wrong Marks : 0
Four words have been given, out of which three are alike in some manner and one is different. Select the one that is different.
Options :
1. * Rose
2. % Lotus
3. % Marigold
4. % Lily

Question Number : 68 Question Id : 25498919831 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

mﬁwwﬁqwﬁmﬁ@?ﬂqw%mﬁﬁmm%mﬁmw%Bﬂ&rﬁﬂawmw
I

Options :

1. # J]clld

2. " HHA

3. ® 7fq

4. % foreit

Question Number : 69 Question Id : 25498927368 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Find the number of triangles in the given fizure,

Options :
1. %16
2. % 13
3.%9
4. % 17

Question Number : 69 Question Id : 25498927368 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
A1 3w g e & Ryl o den aid @i

Options :
1. %16
2. % 13
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3. %9
4. %7
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Mandatory or Optional :
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Number of Questions to be attempted :
Section Marks :

Display Number Panel :
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Maximum Instruction Time :
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Sub-Section Id :

Question Shuffling Allowed :
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Question Number : 70 Question Id : 2549895297 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

The contains instructions for religious rituals

Options :

1. ¥ Rigveda

2. % Samaveda
3. ¥ Atharvaveda
4. % Yajurveda

Question Number : 70 Question Id : 2549895297 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Wit gyl & Fax wie B

Options :

1. % 3G
2. % 9HdG
3. # 3fydag
4.+ TJAG

Question Number : 71 Question Id : 2549899680 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

The period of the Eleventh Five-Year Plan was from:

Options :
1. % 2005 to 2010
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2. % 2006 to 2011
3. #2007 to 2012
4. % 2008 to 2013

Question Number : 71 Question Id : 2549899680 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
TRedl Ul drerr Bt 3rafdy @ g2
Options :

1. # 200592010

2. % 2006 9 2011

3. %2007 ¥ 2012

4. % 2008 92013

Question Number : 72 Question Id : 25498912536 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The sun is:

Options :

1. # a producer of water

2. # asecondary source of energy

3. % a primary producer of energy

4. ¥ a tertiary producer of energy

Question Number : 72 Question Id : 25498912536 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Weww Bl

Options :

1. ® O &1 SdTGh

2. % ol &1 fgcdia |id

3.« Sl BT YT Hid

4. ¥ ol BT D IdCH

Question Number : 73 Question Id : 25498929952 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The Indian plate is colliding northward with the Eurasian plate to form
Options :

1. # Karakoram and Pir Panjal Range

2. % Himalayan Range

3. ¥ Purvanchal Range

4. # Satpura and Vindhaya Range

Question Number : 73 Question Id : 25498929952 Question Type : MCQ Option Shuffling : Yes Display Question
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Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

YR @ & IR BT 3R TR We I TaH & &1 fFmfor gam g |
Options :

1. % PRIGRY 3R UR GSITel GdaHTa

2.« TR udamran

3. % yafad ydaaren

4. % JaqsT 3R fdeg udauren

Question Number : 74 Question Id : 25498935812 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Koppen’s classification is based on a subdivision of terrestrial climates into five major types, which are represented by the
capital letters A, B, C, D, and E. Each of these climate types, except for , is defined by temperature criteria.

Options :
1. % A
2.%D
3.% B
4. ® E

Question Number : 74 Question Id : 25498935812 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

WWWWW (terrestrial climates) & SUTGHTS b &TWWWWWﬁ% S e 3aR A,
B, C, D 3R E GRI AT AT 81 70 A S TAag UBR, Dl BISHR, dIHM AFCS gRT YR forar mar g |
Options :

I. % A

2.%D

3.% B

4. 8 E

Question Number : 75 Question Id : 25498937114 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following Indian states is called the "Wheat Bowl' of India?
Options :

1. % Uttar Pradesh

2. % Punjab

3. # West Bengal

4. % Maharashtra

Question Number : 75 Question Id : 25498937114 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
frafefad o @ 5y URdTg 35T &Y g BT HERT (Wheat Bowl)' HET ST 82
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Options :

1. % IR UG
2. ¢ ST

3. % UiyH §d
4. ® HeRTY

English Mock
Group Number : 2
Group Id : 2549894462
Group Maximum Duration : 5
Group Minimum Duration : 5
Show Attended Group? : No
Edit Attended Group? : No
Break time : 1
Mandatory Break time : Yes
Group Marks : 0
Is this Group for Examiner? : No
Examiner permission : Cant View
Show Progress Bar? : No
English Mock
Section Id : 2549897036
Section Number : 1
Section type : Typing Test
Mandatory or Optional : Mandatory
Number of Questions : 1
Number of Questions to be attempted : 1
Section Marks : 0
Display Number Panel : Yes
Enable Mark as Answered Mark for Review and Clear Response Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549897077
Question Shuffling Allowed : No
Is Section Default? : Yes

Question Number : 76 Question Id : 25498941285 Question Type : TYPING TEST Display Question Number : Yes
Calculator : None

Summer camps are supervised camps conducted to entertain as well as equip students with various life skills such as
teamwork, socializing, decision making, independent and responsible living and more. It aids the overall development
of a child and children have fun during this process as they get to explore new arenas.
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Paragraph Display : Yes
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Show Error Count : Yes
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English Actual

Group Number : 3
Group Id : 2549894463
Group Maximum Duration : 15
Group Minimum Duration : 15
Show Attended Group? : No
Edit Attended Group? : No
Break time : 3
Mandatory Break time : Yes
Group Marks : 0
Is this Group for Examiner? : No
Examiner permission : Cant View
Show Progress Bar? : No

English Typing Test
Section Id : 2549897037
Section Number : 1
Section type : Typing Test
Mandatory or Optional : Mandatory
Number of Questions : 1
Number of Questions to be attempted : 1
Section Marks : 0
Display Number Panel : Yes

Enable Mark as Answered Mark for Review and Clear Response Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549897078
Question Shuffling Allowed : No

Is Section Default? : Yes

Question Number : 77 Question Id : 25498937917 Question Type : TYPING TEST Display Question Number : Yes
Calculator : None

Soil is a mixture of organic matter with minerals and fluids and organisms that together support life. The body of soil
of Earth called the Pedosphere has four important functions. Soil functions as a medium for plant growth. Soil
functions as a means of water storage supply and purification. Soil is a modifier of Earth atmosphere. Soil is a habitat
for organisms. All of these functions in their turn modify the soil and its properties. Soil is also commonly referred to
as earth or dirt. Some scientific definitions distinguish dirt from soil by restricting the former term specifically to
displaced soil. The Pedosphere interfaces with the whole biosphere which includes the lithosphere and the hydrosphere
as well as the atmosphere. Soil consists of a solid phase of minerals and organic matter as well as a porous phase that
holds gases and water. Accordingly soil scientists can envisage soils as a three state system of solids and liquids along
with gases. Soil is a product of several factors like the influence of climate relief or organisms and the soil parent
materials interacting over time. It continually undergoes development by way of numerous physical and chemical
processes. This also includes biological processes which include weathering with associated erosion. Given its
complexity and strong internal connectedness soil ecologists regard soil as an ecosystem. In engineering terms soil is
included in the broader concept of regolith which also includes other loose material that lies above the bedrock as can
be found on the Moon and on the other celestial objects. Soil functions as a major component of the ecosystem of
Earth. Ecosystems around the world are impacted in far reaching ways by the processes carried out in the soil with
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effects ranging from ozone depletion and global warming to rainforest destruction and water pollution. Soil acts as an
important carbon reservoir with respect to carbon cycle of Earth and it is potentially very reactive to human
disturbance and climate change. As the planet warms it has been predicted that soils will add carbon dioxide to the
atmosphere due to increased biological activity at higher temperatures which is a positive feedback. This prediction
has however been questioned on consideration of more recent knowledge on carbon turn over in soil. Soil acts as an
engineering medium and a habitat for soil organisms. It is a recycling system for nutrients and organic wastes and a
regulator of water quality. It is also a modifier of atmospheric composition and a medium for plant growth making it a
critically important provider of ecosystem services. Since soil has a tremendous range of available niches and habitats
it contains most of the genetic diversity present on Earth. A gram of soil can contain billions of organisms belonging to
thousands of species which are mostly microbial and largely still unexplored. Soils can effectively remove impurities or
kill agents of disease and degrade contaminants also. This latter property is called natural attenuation. Typically soils
maintain a net absorption of oxygen and methane and undergo a net release of carbon dioxide and nitrous oxide. Soils
offer plants physical support along with nutrients and air and water. It also provides temperature moderation and
protection from harmful toxins. Soils provide readily available nutrients to plants and animals by converting dead
organic matter into various nutrient forms.
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Calculator : None
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